10.02.21

To add and subtract fractions.

As a warm up follow this link to do a quick fractions quiz! 
https://www.educationquizzes.com/ks2/maths/fractions-year-5/ 

Have another look through the power point. Try to make sure you understand how to compare fractions. We will be going back over this again as it is rather tricky! As usual, choose from A, B or C and then have a go at the challenges.
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Challenges
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ANSWERS
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Amir eats — of the
12
chocolate bar and
Whitney eats % of
the chocolate bar.
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SAME DENOMINATOR
Add or subtract the numerators.

Put the answer over the same denominator.

Examples
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DIFFERENT DENOMINATORS

Convert one of the fractions to an equivalent
fraction with the same denominator as the other
fraction.

Examples

ftiziti=sg

n_1_1_4_7

1 3 1 12 12

(]

lete. Copy and complete.

1 0J A En
9”9 ATETB 600
2 ORI (N [ |
7 O3 mtmow
0_0 oo A mn
00 ©9stsw'sw
L] B (N (W |
- O i-ntn-u

L] 00

)

al-
-
=

Work out
-1 @ @i
I Ok @F)
-3 O 0%
hloeid e




image2.png
How many different ways can you
balance the equation?
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A chocolate bar has 12 equal pieces.

5
Amir eats — more of the bar than
Whitney.

There is one twelfth of the bar remaining.
What fraction of the bar does Amir eat?

What fraction of the bar does Whitney
eat?
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Possible answers:

5+3_8+0
9 9799
5+4_8+1
9 9799
5+5_8+2
9 9799

Any combination
of fractions where
the numerators
add up to the
same total on
each side of the
equals sign.




